Award Worksheet

Memphis City Schools Purchasing Entity:

Bid ID: 1152

Maintenance Warehouse Description: HVAC Filters - 1106703t18 Category:

Effective Start Date: Effective End Date:

Awarded:

Bids Due By: 11/27/2012 10:00 AM **Run Date:** 11/27/12 12:27 pm

Bids Sealed Until: 11/27/2012 10:00 AM

Vendor Summary Information

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
America's Finest Filters Inc.	•	·	16,971.0400
Bruce Air Filter Co.		NET 30	10,329.8400
DURALAST PRODUCTS	Prices valid for 60 days after bid	30 Days from delivery	12,036.4400
EMI Filtration Products			15,072.6000
Hepner Filter Sales & Service, Inc.		net 30	9,266.4800
J and J Filters	notify 30 day in advance	net 30	16,250.2400
Koch Filter Corporation		Net 30 Days	14,393.2000
Trane Parts			11,881.0400

	ot ode Item D	escription	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
No letted tome f										
1	ound for the selected of Item #: 30317 7 1/2 X 21 3/4 FILTER		1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	2.0100	60	120.60			
		& Part Number:	airguard/HEPNER - h	naf237.521.751mxsp						
	Quoted as Sp	ec'd: Yes		Product Number: 7.5x21.75x1	spplt					
	Item #: 30317 7 1/2 X 21 3/4 FILTER	X 1 PLEATED	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	3.1100	60	186.60			
		& Part Number:	CFM - CF7.521.751							
	Quoted as Sp	ec'd: Yes		Product Number: DL7.521.75						
	Item #: 30317 7 1/2 X 21 3/4 FILTER	X 1 PLEATED	1 - 1.0000 Each Purchase	Trane Parts	3.1100	60	186.60			
	Manufacturer	& Part Number:	CFM							
	Quoted as Sp	ec'd: Yes		Product Number: 7.521.751 N	8					
	Item #: 30317 7 1/2 X 21 3/4 FILTER	X 1 PLEATED	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	3.2500	60	195.00			
	Manufacturer	& Part Number:	Bruce - BAF-SP1							
	Quoted as Sp	ec'd: Yes		Product Number: 7.5x21.75x1	SP1					
	Item #: 30317 7 1/2 X 21 3/4 FILTER	X 1 PLEATED	1 - 1.0000 Each Purchase	EMI Filtration Products	3.6900	60	221.40			
	Manufacturer	& Part Number:	Flanders							
	Quoted as Sp	ec'd: Yes		Product Number: 80085.0119	9					
	Response Iter	n Notes: The att	ached files referenced are fo	or all line items.						
	Item #: 30317 7 1/2 X 21 3/4 FILTER	X 1 PLEATED	1 - 1.0000 Each Purchase	Koch Filter Corporation	3.6900	60	221.40			
	Manufacturer	& Part Number:	Koch Filter Corporation	on - 102-041-199						
	Quoted as Sp	ec'd: Yes		Product Number: 102-041-199)					
	Response Iter	m Payment Term	s: Net 30							
	Response Iter	n Notes: Please	include special size required	d with part number when placing	your order.					
	Item #: 30317 7 1/2 X 21 3/4 FILTER	X 1 PLEATED	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	4.6800	60	280.80			
		& Part Number:	Filtration Group							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: FG-P712213	41					
		Response Item Notes: Filtration	n Group Pleat 400 Series							
		Item #: 30317 7 1/2 X 21 3/4 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase Pro pleat	J and J Filters	4.8000	60	288.00			
		Quoted as Spec'd: Yes		Product Number: pp1						
		Response Item Payment Terms	:: net 30							
2		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	2.1200	72	152.64			
		Manufacturer & Part Number:	airguard/HEPNER - h	af23910.51mxsp						
		Quoted as Spec'd: Yes		Product Number: 9x10.5x1spp	lt					
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	3.0800	72	221.76			
		Manufacturer & Part Number:	Koch Filter Corporation	n - 102-041-099						
		Quoted as Spec'd: Yes		Product Number: 102-041-099						
		Response Item Payment Terms	:: Net 30							
		Response Item Notes: Please in	nclude special size required	with part number when placing y	our order.					
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	3.1100	72	223.92			
		Manufacturer & Part Number:	CFM - CF910.51							
		Quoted as Spec'd: Yes		Product Number: DL910.51						
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase CFM	Trane Parts	3.1100	72	223.92			
		Quoted as Spec'd: Yes	OI IVI	Product Number: 910.51M8!						
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	3.2500	72	234.00			
		Manufacturer & Part Number:	Bruce - BAF-SP1	Bro Lord Novel 0 40 5 40 5						
		Quoted as Spec'd: Yes		Product Number: 9x10.5x1SP1						
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	3.6900	72	265.68			

	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Manufacturer & Part Number:	Flanders							
		Quoted as Spec'd: Yes		Product Number: 80085.01199						
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	4.4800	72	322.56			
		Manufacturer & Part Number:	Filtration Group	B No						
		Quoted as Spec'd: Yes		Product Number: FG-P910121						
		Response Item Notes: Filtration	Group Pleat 400 Series							
		Item #: 30347 9 X 10 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	4.8000	72	345.60			
		Manufacturer & Part Number:	pro pleat							
		Quoted as Spec'd: Yes		Product Number: pp1						
		Response Item Payment Terms	:: net 30							
3		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	2.1200	60	127.20			_
		Manufacturer & Part Number:	airguard/HEPNER - I	haf2310131mxsp						
		Quoted as Spec'd: Yes		Product Number: 10x13x1spplt						
		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	3.1100	60	186.60			
		Manufacturer & Part Number:	CFM - CF10131							
		Quoted as Spec'd: Yes		Product Number: DL10131						
		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	3.1100	60	186.60			
		Manufacturer & Part Number:	CFM							
		Quoted as Spec'd: Yes		Product Number: 10131 M8						
		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	3.2500	60	195.00			
		Manufacturer & Part Number:	Bruce - BAF-SP1							
		Quoted as Spec'd: Yes		Product Number: 10x13x1SP1						
		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	3.6900	60	221.40			
		Manufacturer & Part Number:	Flanders							

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: 80085.01199						
		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	3.6900	60	221.40			
		Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-199						
		Quoted as Spec'd: Yes		Product Number: 102-041-199						
		Response Item Payment Terms	s: Net 30							
		Response Item Notes: Please i	nclude special size required	d with part number when placing yo	our order.					
		Item #: 30387 10 X 13 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase Filtration Group	America's Finest Filters Inc.	4.4800	60	268.80			
		Quoted as Spec'd: Yes	·	Product Number: FG-P10131						
		Response Item Notes: Filtration	Group Pleat 400 Series							
		Item #: 30387 10 X 13 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	4.8000	60	288.00			
		Manufacturer & Part Number:	pro pleat							
		Quoted as Spec'd: Yes		Product Number: pp1						
		Response Item Payment Terms	s: net 30							
4		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	3.5800	48	171.84			
		Manufacturer & Part Number:	airguard/HEPNER - h	naf239.535.51mxsp						
		Quoted as Spec'd: Yes		Product Number: 9.5x35.5x1sp	plt					
		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	4.9800	48	239.04			
		Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-399						
		Quoted as Spec'd: Yes		Product Number: 102-041-399						
		Response Item Payment Terms	s: Net 30							
		Response Item Notes: Please i	nclude special size required	d with part number when placing yo	our order.					
		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	4.9900	48	239.52			
		Manufacturer & Part Number:	Bruce - BAF-SP1							
		Quoted as Spec'd: Yes		Product Number: 9.5x35.5x1SF	' 1					

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 30414	1 - 1.0000 Each	America's Finest Filters	5.6000	48	268.80			
		9 1/2 X 35 1/2 X 1 PLEATED FILTER	Purchase	Inc.						
		Manufacturer & Part Number:	Filtration Group							
		Quoted as Spec'd: Yes		Product Number: FG-P912351	21					
		Response Item Notes: Filtration	Group Pleat 400 Series							
		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	5.9500	48	285.60			
		Manufacturer & Part Number:	CFM							
		Quoted as Spec'd: Yes		Product Number: 9.2535.51 M	8					
		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	5.9600	48	286.08			
		Manufacturer & Part Number:	CFM - CF9.535.51							
		Quoted as Spec'd: Yes		Product Number: DL9.535.51						
		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	7.3500	48	352.80			
		Manufacturer & Part Number:	pro pleat							
		Quoted as Spec'd: Yes		Product Number: pp1						
		Response Item Payment Terms	s: net 30							
		Item #: 30414 9 1/2 X 35 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	8.6300	48	414.24			
		Manufacturer & Part Number:	Flanders							
		Quoted as Spec'd: Yes		Product Number: 80085D0139	9					
5		Item #: 30415 9 1/2 X 36 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	3.5800	240	859.20			
		Manufacturer & Part Number:	airguard/HEPNER -	haf239.5361mxsp						
		Quoted as Spec'd: Yes		Product Number: 9.5x36x1spp	lt					
		Item #: 30415 9 1/2 X 36 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	4.9900	240	1,197.60			
		Manufacturer & Part Number:	Bruce - BAF-SP1							
		Quoted as Spec'd: Yes		Product Number: 9.5x36x1SP	1					

							Pending	Pending	
Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Award Quantity	Award Total	Pending Award
	Item #: 30415	1 - 1.0000 Each	America's Finest Filters	5.6000	240	1,344.00			
	9 1/2 X 36 X 1 PLEATED FILTER	Purchase	Inc.						
	Manufacturer & Part Number:	Filtration Group							
	Quoted as Spec'd: Yes		Product Number: FG-P912361						
	Response Item Notes: Filtration	Group Pleat 400 Series							
	Item #: 30415	1 - 1.0000 Each	Trane Parts	5.9500	240	1,428.00			
	9 1/2 X 36 X 1 PLEATED FILTER	Purchase							
	Manufacturer & Part Number:	CFM							
	Quoted as Spec'd: Yes		Product Number: 9.25361M8						
	Item #: 30415 9 1/2 X 36 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	5.9600	240	1,430.40			
	Manufacturer & Part Number:	CFM - CF9.5361							
	Quoted as Spec'd: Yes		Product Number: DL9.5361						
	Item #: 30415 9 1/2 X 36 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	7.3500	240	1,764.00			
	Manufacturer & Part Number:	pro pleat							
	Quoted as Spec'd: Yes		Product Number: pp1						
	Response Item Payment Terms	: net 30							
	Item #: 30415 9 1/2 X 36 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	7.6600	240	1,838.40			
	Manufacturer & Part Number:	Koch Filter Corporation	n - 102-041-1992						
	Quoted as Spec'd: Yes		Product Number: 102-041-1992	2					
	Response Item Payment Terms	: net 30							
	Response Item Notes: Please in	nclude special size required	with part number when placing ye	our order.					
	Item #: 30415 9 1/2 X 36 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	8.6300	240	2,071.20			
	Manufacturer & Part Number:	Flanders							
	Quoted as Spec'd: Yes		Product Number: 80085D01399	9					
6	Item #: 30423 10 X 43 3/4 X 1 PLEATED	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	3.9300	72	282.96			
	FILTER Manufacturer & Part Number:	airguard/HEPNER - ha	af231043.751mxsp						

Lot Code Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
Quoted as Spec'd:	es	Product Number: 10x43.75x1	spplt					
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER		Bruce Air Filter Co.	5.3500	72	385.20			
Manufacturer & Part Num	ber: Bruce - BAF-SP1							
Quoted as Spec'd:	es	Product Number: 10x34.75x1	SP1					
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER		Trane Parts	6.7500	72	486.00			
Manufacturer & Part Num	ber: CFM							
Quoted as Spec'd:	es	Product Number: 1043.751M8	3					
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER		DURALAST PRODUCTS	6.7600	72	486.72			
Manufacturer & Part Num	ber: CFM - CF103.751							
Quoted as Spec'd: Ye	es	Product Number: DL103.751						
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER	1 - 1.0000 Each Deurchase	Koch Filter Corporation	7.8300	72	563.76			
Manufacturer & Part Num	ber: Koch Filter Corporat	tion - 102-041-2992						
Quoted as Spec'd:	es	Product Number: 102-041-29	92					
Response Item Payment	Terms: net 30							
Response Item Notes: Ple	ease include special size require	ed with part number when placing	your order.					
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	8.0000	72	576.00			
Manufacturer & Part Num	ber: pro pleat							
Quoted as Spec'd:	es	Product Number: pp1						
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	9.1300	72	657.36			
Manufacturer & Part Num	ber: Flanders							
Quoted as Spec'd: Ye	es	Product Number: 80085D015	99					
Item #: 30423 10 X 43 3/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	10.4000	72	748.80			
Manufacturer & Part Num	ber: Filtration Group							
Quoted as Spec'd:	es	Product Number: FG-P10437	51					

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Response Item Notes: Double F								
7	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	6.9300	60	415.80			
	Manufacturer & Part Number:	airguard/HEPNER - h	af2315.25531mxsp						
	Quoted as Spec'd: Yes		Product Number: 15.25x53x1sp	pplt					
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	7.0400	60	422.40			
	Manufacturer & Part Number:	Flanders							
	Quoted as Spec'd: Yes		Product Number: 80085D01999	9					
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	7.0500	60	423.00			
	Manufacturer & Part Number:	Bruce - BAF-SP1							
	Quoted as Spec'd: Yes		Product Number: 15.25x53x1Sl	P1					
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	8.5700	60	514.20			
	Manufacturer & Part Number:	CFM							
	Quoted as Spec'd: Yes		Product Number: 15.25531M8						
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	8.5800	60	514.80			
	Manufacturer & Part Number:	CFM - CF15.25531							
	Quoted as Spec'd: Yes		Product Number: CF15.25531						
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	9.7500	60	585.00			
	Manufacturer & Part Number:	pro pleat							
	Quoted as Spec'd: Yes		Product Number: pp1						
	Response Item Payment Terms	s: net 30							
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	10.7500	60	645.00			
	Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-4992						
	Quoted as Spec'd: Yes		Product Number: 102-041-4992	2					
	Response Item Payment Terms	s: Net 30							

Line Lot Number Code	Item Description Response Item Notes: Please in	Purchase Unit nclude special size required	Vendor I with part number when placing yo	Bid Price our order.	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Item #: 30549 15 1/4 X 53 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase Filtration Group	America's Finest Filters Inc.	16.4000	60	984.00			
	Quoted as Spec'd: Yes		Product Number: FG-P151453	I					
	Response Item Notes: Triple Fi	Itration Group Pleat 400 Se	ries						
8	Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	3.9400	244	961.36			
	Manufacturer & Part Number:	airguard/HEPNER - h	af2310481mxsp						
	Quoted as Spec'd: Yes		Product Number: 10x48x1spplt						
	Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	5.2300	244	1,276.12			
	Manufacturer & Part Number:	Bruce - BAF-SP1							
	Quoted as Spec'd: Yes		Product Number: 10x48x1SP1						
	Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	6.7500	244	1,647.00			
	Manufacturer & Part Number:	CFM							
	Quoted as Spec'd: Yes		Product Number: 10481M8						
	Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	6.7600	244	1,649.44			
	Manufacturer & Part Number:	CFM - CF10481							
	Quoted as Spec'd: Yes		Product Number: DL10481						
	Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	7.8300	244	1,910.52			
	Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-2992						
	Quoted as Spec'd: Yes		Product Number: 102-041-2992	2					
	Response Item Payment Terms	s: net 30							
	Response Item Notes: Please in	nclude special size required	d with part number when placing ye	our order.					
	Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	8.0000	244	1,952.00			
	Manufacturer & Part Number:	pro pleat							

Line	Lot					Response		Pending Award	Pending Award	Pending
Number	Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award
		Quoted as Spec'd: Yes		Product Number: pp1						
		Response Item Payment Terms	s: net 30							
		Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	9.1300	244	2,227.72			
		Manufacturer & Part Number:	Flanders							
		Quoted as Spec'd: Yes		Product Number: 80085D01599)					
		Item #: 30673 10 X 48 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	9.3200	244	2,274.08			
		Manufacturer & Part Number:	Filtration Group							
		Quoted as Spec'd: Yes		Product Number: FG-P10481						
		Response Item Notes: Filtration	Group Pleat 400 Series							
9		Item #: 30733 15 X 30 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	4.0100	60	240.60			
		Manufacturer & Part Number:	Flanders							
		Quoted as Spec'd: Yes		Product Number: 80085.01499						
		Item #: 30733 15 X 30 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	4.2300	60	253.80			
		Manufacturer & Part Number:	airguard/HEPNER - h	af2315301mxsp						
		Quoted as Spec'd: Yes		Product Number: 15x30x1spplt						
		Item #: 30733 15 X 30 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	4.3100	60	258.60			
		Manufacturer & Part Number:	CFM - CF15301							
		Quoted as Spec'd: Yes		Product Number: DL15301						
		Item #: 30733 15 X 30 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	4.3100	60	258.60			
		Manufacturer & Part Number:	CFM							
		Quoted as Spec'd: Yes		Product Number: 15301M8						
		Item #: 30733 15 X 30 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	4.3900	60	263.40			
		Manufacturer & Part Number:	Bruce - BAF-SP1							
		Quoted as Spec'd: Yes		Product Number: 15x30x1SP1						

Line Lot Number Code	Item Description Item #: 30733	Purchase Unit 1 - 1.0000 Each	Vendor Koch Filter Corporation	Bid Price 5.1900	Response Quantity 60	Total Price 311.40	Pending Award Quantity	Pending Award Total	Pending Award
	15 X 30 X 1 PLEATED FILTER	Purchase		0000		0			
	Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-499						
	Quoted as Spec'd: Yes		Product Number: 102-041-499						
	Response Item Payment Terms	s: net 30							
	Response Item Notes: Please i	nclude special size required	d with part number when placing yo	our order.					
	Item #: 30733 15 X 30 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase pro pleat	J and J Filters	5.8800	60	352.80			
	Quoted as Spec'd: Yes	pro produ	Product Number: pp1						
	Item #: 30733 15 X 30 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	6.3000	60	378.00			
	Manufacturer & Part Number:	Filtration Group							
	Quoted as Spec'd: Yes		Product Number: 10431						
	Response Item Notes: Filtration	Group Pleat 400 Series							
10	Item #: 30739 16 X 30 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	4.2700	60	256.20			
	Manufacturer & Part Number:	Koch Filter Corporation	on - 102-042-018						
	Quoted as Spec'd: Yes		Product Number: 102-042-018						
	Response Item Payment Terms	s: Net 30							
	Response Item Notes: Please i	nclude special size required	d with part number when placing yo	our order.					
	Item #: 30739 16 X 30 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	4.4100	60	264.60			
	Manufacturer & Part Number:	airguard/HEPNER - h	naf2316301mxsp						
	Quoted as Spec'd: Yes		Product Number: 16x30x2spplt						
	Item #: 30739 16 X 30 X 2 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase Bruce - BAF-SP2	Bruce Air Filter Co.	5.0400	60	302.40			
	Quoted as Spec'd: Yes	Didoo Ditt Ol Z	Product Number: 16x30x2SP2						
	Item #: 30739 16 X 30 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	5.1000	60	306.00			

Line Number	Lot Code	Item Description Manufacturer & Part Number:	Purchase Unit Flanders	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Quoted as Spec'd: Yes		Product Number: 80085.02499						
		Item #: 30739 16 X 30 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	5.4600	60	327.60			
		Manufacturer & Part Number:	CFM							
		Quoted as Spec'd: Yes		Product Number: 16302M8						
		Item #: 30739 16 X 30 X 2 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase CFM - CF16302	DURALAST PRODUCTS	5.4700	60	328.20			
		Quoted as Spec'd: Yes	61 III 61 1666 <u>2</u>	Product Number: DL16302						
		Item #: 30739 16 X 30 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	6.9200	60	415.20			
		Manufacturer & Part Number:	pro pleat							
		Quoted as Spec'd: Yes		Product Number: pp2						
		Response Item Payment Terms	: net 30							
		Item #: 30739 16 X 30 X 2 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase Filtration Group	America's Finest Filters Inc.	9.7400	60	584.40			
		Quoted as Spec'd: Yes		Product Number: FG-P16302						
		Response Item Notes: Filtration	Group Pleat 400 Series							
11		Item #: 30748 20 X 20 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	1.8600	1,008	1,874.88			
		Manufacturer & Part Number:	Airguard - XTP-103							
		Quoted as Spec'd: Yes		Product Number: XTP-103						
		Item #: 30748 20 X 20 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	2.1000	1,008	2,116.80			
		Manufacturer & Part Number:	CFM							
		Quoted as Spec'd: Yes		Product Number: 20201M8						
		Item #: 30748 20 X 20 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase airguard - 20201xp	Hepner Filter Sales & Service, Inc.	2.1100	1,008	2,126.88			

Line Lot Number Code	ltem Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: 0474703		-	-		_	
	Item #: 30748 20 X 20 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase CFM - CF20201	DURALAST PRODUCTS	2.1800	1,008	2,197.44			
	Quoted as Spec'd: Yes	31 W 31 2020 1	Product Number: DL20201						
	Item #: 30748 20 X 20 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	2.7100	1,008	2,731.68			
	Manufacturer & Part Number:	Koch Filter Corporat	ion - 102-700-019						
	Quoted as Spec'd: Yes		Product Number: 102-700-019						
	Response Item Payment Terms	s: Net 30							
	Item #: 30748 20 X 20 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	2.8600	1,008	2,882.88			
	Manufacturer & Part Number:	Flanders							
	Quoted as Spec'd: Yes		Product Number: 80085.012020						
	Item #: 30748 20 X 20 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	3.1500	1,008	3,175.20			
	Manufacturer & Part Number:	Filtration Group							
	Quoted as Spec'd: Yes		Product Number: 10375						
	Response Item Notes: Filtration	n Group Pleat 400 Series							
	Item #: 30748 20 X 20 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	3.7500	1,008	3,780.00			
	Manufacturer & Part Number:	pro pleat							
	Quoted as Spec'd: Yes		Product Number: pp1						
	Response Item Payment Terms	s: net 30							
12	Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	5.5200	60	331.20			
	Manufacturer & Part Number:	Bruce - BAF-SP1							
	Quoted as Spec'd: Yes		Product Number: 10x55.25x1SP	1					
	Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase airguard/HEPNER -	Hepner Filter Sales & Service, Inc.	5.8600	60	351.60			
	Manufacturer & Part Number:	allyualu/HEPNER -	naizอาบออ.zอ mixsp						

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
		Quoted as Spec'd: Yes		Product Number: 10x55.25x1s	pplt						
		Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	6.7500	60	405.00				
		Manufacturer & Part Number:	CFM								
		Quoted as Spec'd: Yes		Product Number: 1055.251M8							
		Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	6.7600	60	405.60				
		Manufacturer & Part Number:	CFM - CF1055.251								
		Quoted as Spec'd: Yes		Product Number: DL1055.251							
		Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	7.8300	60	469.80				
		Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-2992							
		Quoted as Spec'd: Yes		Product Number: 102-041-299	2						
		Response Item Payment Terms: Net 30									
		Response Item Notes: Please in	nclude special size required	I with part number when placing y	our order.						
		Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	8.0800	60	484.80				
		Manufacturer & Part Number:	pro pleat								
		Quoted as Spec'd: Yes		Product Number: pp1							
		Response Item Payment Terms: net 30									
		Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	9.1300	60	547.80				
		Manufacturer & Part Number:	Flanders								
		Quoted as Spec'd: Yes		Product Number: 80085D0159	9						
		Item #: 30795 10 X 55 1/4 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	America's Finest Filters Inc.	10.5800	60	634.80				
		Manufacturer & Part Number:	Filtration Group								
		Quoted as Spec'd: Yes		Product Number: FG-P105514	1						
		Response Item Notes: Filtration	Group Pleat 400 Series								
13		Item #: 30504 13 1/2 X 41 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	4.8900	288	1,408.32				

									Pending	Pending	
Line	Lot						Response		Award	Award	Pending
Number	Code	Item Descript Manufacturer & Part		Purchase Unit airguard/HEPNER - h	Vendor af2313 541 51mysp	Bid Price	Quantity	Total Price	Quantity	Total	Award
				aligualu/HEI NEIX - II	·	II					
		Quoted as Spec'd:	Yes		Product Number: 15.5x41.5x1s						
		Item #: 30504 13 1/2 X 41 1/2 X 1		1 - 1.0000 Each Purchase	Bruce Air Filter Co.	5.3900	288	1,552.32			
		PLEATED FILTER									
		Manufacturer & Part		Bruce - BAF-SP1							
		Quoted as Spec'd:	Yes		Product Number: 13.5x41.5x1S	P1					
		Item #: 30504 13 1/2 X 41 1/2 X 1		1 - 1.0000 Each Purchase	Trane Parts	6.7500	288	1,944.00			
		PLEATED FILTER									
		Manufacturer & Part	Number:	CFM							
		Quoted as Spec'd:	Yes		Product Number: 13.541.51M8						
		Item #: 30504		1 - 1.0000 Each	DURALAST PRODUCTS	6.7600	288	1,946.88			
		13 1/2 X 41 1/2 X 1 PLEATED FILTER		Purchase							
		Manufacturer & Part	Number:	CFM - CF13.541.51							
		Quoted as Spec'd:	Yes		Product Number: DL13.541.51						
		Item #: 30504 13 1/2 X 41 1/2 X 1 PLEATED FILTER		1 - 1.0000 Each Purchase	Koch Filter Corporation	7.8300	288	2,255.04			
		Manufacturer & Part	Number:	Koch Filter Corporation	on - 102-041-2992						
		Quoted as Spec'd:	Yes		Product Number: 102-041-2992	2					
		Response Item Paym	ent Terms	s: Net 30							
		Response Item Notes: Please include special size required with part number when placing your order.									
		Item #: 30504 13 1/2 X 41 1/2 X 1 PLEATED FILTER		1 - 1.0000 Each Purchase	J and J Filters	8.0800	288	2,327.04			
		Manufacturer & Part	Number:	pro pleat							
		Quoted as Spec'd:	Yes		Product Number: pp1						
	Response Item Payment Terms:		s: net 30								
		Item #: 30504 13 1/2 X 41 1/2 X 1 PLEATED FILTER		1 - 1.0000 Each Purchase	EMI Filtration Products	9.1300	288	2,629.44			
		Manufacturer & Part	Number:	Flanders							
		Quoted as Spec'd:	Yes		Product Number: 80085D01599)					
		Item #: 30504 13 1/2 X 41 1/2 X 1 PLEATED FILTER		1 - 1.0000 Each Purchase	America's Finest Filters Inc.	10.9000	288	3,139.20			

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Manufacturer & Part Number:	Filtration Group	5 1 . N 1						
	Quoted as Spec'd: Yes		Product Number: 131241121						
	Response Item Notes: Filtration	-							
14	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	2.5000	488	1,220.00			
	Manufacturer & Part Number:	Airguard - XTP-211							
	Quoted as Spec'd: Yes		Product Number: XTP-211						
	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	2.5900	488	1,263.92			
	Manufacturer & Part Number:	CFM							
	Quoted as Spec'd: Yes		Product Number: 20242M8						
	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	2.6600	488	1,298.08			
	Manufacturer & Part Number:	airguard - 20x24x2xp							
	Quoted as Spec'd: Yes		Product Number: 0474811						
	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	2.7200	488	1,327.36			
	Manufacturer & Part Number:	CFM - CF20242							
	Quoted as Spec'd: Yes		Product Number: DL20242						
	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	3.1600	488	1,542.08			
	Manufacturer & Part Number:	Flanders							
	Quoted as Spec'd: Yes		Product Number: 80085.022024	ļ					
	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	3.6500	488	1,781.20			
	Manufacturer & Part Number:	Koch Filter Corporatio	n - 102-700-020						
	Quoted as Spec'd: Yes		Product Number: 102-700-020						
	Response Item Payment Terms	s: Net 30							
	Item #: 30758 20 X 24 X 2 PLEATED FILTER	1 - 1.0000 Each Purchase Filtration Group	America's Finest Filters Inc.	3.7000	488	1,805.60			
	Manufacturer & Part Number:	i illialion Group							

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	Quoted as Spec'd: Yes		Product Number: 10389						
	Response Item Notes: Filtration	Group Pleat 400 Series							
	Item #: 30758 20 X 24 X 2 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase pro pleat	J and J Filters	4.5000	488	2,196.00			
	Quoted as Spec'd: Yes	pro picat	Product Number: pp2						
		not 30	Product Number. pp2						
	Response Item Payment Terms								
15	Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	EMI Filtration Products	7.0400	60	422.40			
	Manufacturer & Part Number:	Flanders							
	Quoted as Spec'd: Yes		Product Number: 80085D01799						
	Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Hepner Filter Sales & Service, Inc.	7.8600	60	471.60			
	Manufacturer & Part Number:	airguard/HEPNER - h	af231063.51mxsp						
	Quoted as Spec'd: Yes		Product Number: 10x63.5x1sppl	t					
	Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	J and J Filters	9.0500	60	543.00			
	Manufacturer & Part Number:	pro pleat							
	Quoted as Spec'd: Yes		Product Number: pp1						
	Response Item Payment Terms	s: net 30							
	Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Trane Parts	10.1200	60	607.20			
	Manufacturer & Part Number:	CFM							
	Quoted as Spec'd: Yes		Product Number: 1063.51M8						
	Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	DURALAST PRODUCTS	10.1300	60	607.80			
	Manufacturer & Part Number:	CFM - CF1063.51							
	Quoted as Spec'd: Yes		Product Number: DL1063.51						
	Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Bruce Air Filter Co.	10.6700	60	640.20			
	Manufacturer & Part Number:	Bruce - BAF-SP1							

Line Number	Lot Code	Item Description Quoted as Spec'd: Yes	Purchase Unit	Vendor Product Number: 10x63.5x1SP	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER	1 - 1.0000 Each Purchase	Koch Filter Corporation	12.1100	60	726.60			
		Manufacturer & Part Number:	Koch Filter Corporation	on - 102-041-2993						
		Quoted as Spec'd: Yes		Product Number: 102-041-2993	3					
		Response Item Payment Terms	s: net 30							
		Response Item Notes: Please in	nclude special size required	with part number when placing you	our order.					
		Item #: 30452 10 X 63 1/2 X 1 PLEATED FILTER Manufacturer & Part Number:	1 - 1.0000 Each Purchase Filtration Group	America's Finest Filters Inc.	12.7000	60	762.00			
		Quoted as Spec'd: Yes		Product Number: FG-P1063121	1					

Response Item Notes: Filtration Group Pleat 400 Series Triple